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1. Let us compute approximately the integral I = f35 ﬁdw by midpoint rule (call the sum
M,,) with equally spaced sample points 3 = z¢g < ... < z, = 5.

(a) Write M,, using sigma notation.

(b) Find n such that M, approximates I with error not exceeding e = 107%.
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2. Approximate the integral in Problem 1 using Simpson’s rule with n = 4. How large should n
be such that the Simpson sum S,, approximates I with error not exceeding e = 1074 ?

We will fh‘p grmpﬁm‘s rwae.























































































